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Attempt All the questions.
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I (@)  Define investment. How does.inflation affect investment
decisions ? Give examples. .6
PT.O.
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(2) 1673
(b). Mr. Y has purchased shares at Z 100 each five years ago.
The market price at the end of the year and dividend during

the year are given below. Find average rate of return and

the risk of security. | 9
Year Dividend (%) Market Price ‘(?I)

l - - 5 105

2 6 ' 120

3 6 124

4 | 4 130

5 3 140

(#) faw = gforfim st wwmifs fEw-foi 5
fFa ¥R qufaa S & 2 Sew <

(@) &t ‘g€’ 7 Ui a8 qd 7 100 WA IR | IR
e 4 g ® I A TR HIHd SR T6 B
A T TR &y ¥ e w5 om @

st fryfo-<ifew @ i

G A (F)  WER HEA (3)
' 1 5 105
2 6 120
3 6 124
4 4 130
5 3 140
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(b)
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O

(3tg=m)

Name the important participants of security market.

Explain any rwo of them in brief. 6

. The following two securities have been shortlisted by

. investor :
Return on Seéurity | Probability
X | Y | |
10% 5% 4 }
5% - 8% 4
% AP 5

()

(@)

frm wfyfy #1 g7 =feq ofn = 2

Which security should be selected and why 2 - 9

uﬁrgﬁr'wﬁnﬁ@ﬁmﬁﬁimqﬁﬁﬁ@

'ﬁmllaﬁﬁiﬁa’raﬁ‘é@mﬁwaﬁmu

frv T g F A frefefer @ vhefe @
ﬂﬁﬂqﬁﬁh‘@‘m'{'@% |

wefd W ufdha | WTiaehdr

X Y

0% 5% | 4
5% . % -4
-5% 2% 2

-

P.T.O.
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(a) Differentiate between : 6
(/) Callable and putable bond
(i) Open ended and close ended scheme of Mutural Fund.

(&) A Co. issued 12% bonds with 3 years maturity. Bond is
redeemable at par at ¥ 1,000. What would be the value

of this bond assuming interest is paid ' 9
() Annually

(if) Semi-annually ?
(%) fasg Fifsw

(r AT AR ﬁaa‘qfﬁaxm Y-

(i) I HE HT waa R forga dremnd
(@) @mﬂﬁsaﬁiﬁmaﬁ 12% TY-T5

mmlm—ﬁ?mmm'mwm%r
W SY-UA F W Y AW, S A

() s &9 ¥ fe s
(i) STF-aw e smom 2
Or

(3rgam)

(@)  Define risk. Explain the various sources of risk. 6
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()  An investor has the following information of a bond :

Face value : | .2 10,000

* Coupon rate ; - 10%
Market price : ¥10,500

Find the yield to maturity, yield to call if callable in 5 years
at ¥ 10,800. o 9

(%) ﬁ@qﬁqﬁwﬁaﬁﬁqmﬁf@q%ﬁﬁmm
W] TR R | '

(@) ﬁ?@ﬁﬁ%’w%um@m-w‘%aﬁﬁﬁmﬁrﬁaa
e € e

feha e - 210,000
U1 I 10%
AR ST ;¢ Z 10,500

afE 2 10,800 T 5 9 # yfiw &, 79 sfigeaa-wifa
AR A Wy @ wifww
(@)  Write the procedure for transacting in depository system

in brief and mention its advantages to the company. 6

(6)  Mr. A wants to invest ¥ 1.00.000 equally in the following-

securities :

8% Debentures of XYZ Ltd. and equity shares of an Indian
Co.
P.T.O.
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(6) . : 1673
() What should be return on equity shares so that he

can eamn overall return of 12% ?

(ii) If the risk of debenture is 4% and that of share is
4%, coefficient of correlation between these two

1

securities is 0.8, find the risk of such portfolio. 9

(%) BT Yoret § SR-3T # whear & 98y o
TN BT 3 FE B A B e wifR

(@) it ‘¢ frrafafea gfgfet 9 2 1,00,000 TF w9
} fEw = 9 § .
xXyz fafuds & 8% F0-93 3 UF IRAT et
& sfaad o |
() 12% F1 Ha qfawe Afsa s0 & foag s
WGy # w7 giakd @ =T ?
(i) BfE HI-TF H FEH 4% ¥ AR IR Ft 4%
§ 3l 3 <A wlayfd 8 weamry o 0.8
T, 99 W URwferl S Shfem wa s
0
(3reram)
(@)  “All efficient portfolio alzre feasible but all feasible port-

folios are not efficient.”” Do you agree ? Explain in the

context of Harry Marcowitz Model. 6
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Mr. Z has seiectcd 2 securities, A and B, for his portfolio.

The following information is provided by him :

Security Expected Return ~ Std. Deviation
A 10% 5%
B 15% %

If he invested 40% of his fund in A and 60% in B. find

the return of portfolio.

Also find the maximum and minimum risk of such port-

~ folio. .9

()

(@)

R R S—
eI gt 7 A F1* @ s wewq ¥ 2
T A Hew @ wed § we i

aﬁ‘z*ﬁmiﬁréqﬁ%ﬁ]%mﬁtﬁm,ﬂaﬁiﬁiﬁ
w1 = foFa R IR Fefafen gom wem #

A o 10%% 5%
B | 15% %

PT.O,
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Ife IBR 3ot fafa &1 40% A § 3R 60% B |
frafym foran &, 98 ewifad = wiawa 3 wifay

TR IRwIfeE # fuswad R =Fam sifem o
T ST

(¢)  “Fundamental Analysis is more important tool for inves-
tor than the technical analysis.” Do vou agree ?

Comment, ' ) 6

(h) Mr. B purchased 3 months call option of 100 shares of
Bharti Airtel at a strike price of ¥ 300 per share and paid
a premium of ¥ 30 per share. Find his expected gain or

loss if the actual price on expiration date is :
() %250
(if) T 350.
Also find his break-even point with the help of pay-off
(diagram). 9
(%) *'gengm favemm faws & fau awAtet faverso
¥ 3tfer Hewaqol STHIT ¥ 1" F AT TeHa § 2
feooit sifsma |
(@) ot BX 7300 9id 9 <1 AT HiHa W WAl
TR ® 100 T ' 3 TER & HI-fawey W

e 3Rk gfa =1 7 30 Wim g afe gamas
e W arafas #iha
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(D T 250,

(i) T 350

W, W@ T ovend @
 Fm i

IHE F HEE (SR@) V wger-ww frg o
M Hifeg |

| Or
- (3rga)
-(a) Define futures. How do they differ from forward

contracts ? 6

()  Ms. Sheela, an investor, is holding a security offering 16%
return. If the return on risk free asset is 7% and on market
index is 15%, advice her, on the basis of CAPM to hold

or not (o hold security if systematic risk is
() 1
(i) 06
(iii) 1.5. . 9
(%) it s-forsrar a1 oftwiftm @) & s dfesi
? fow ywr firm £ 2

(B) T fravrh, Yt vien & 9 16% whireer 23 Tt
T wfaifa ¥ 1 2l Sfan-ww vhedefy w whg
7% ¥R SR GEHF 15% ¥, 79 e sifey

PT.O.
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(b)

()

(@)
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M 1 '
(if) 06
(iii) 1.5

B 9 CAPM & 3TYR W IV ¥oe s % a8
ayfd A T Ager 7 W)

Write short notes on ; 6
() Support and Resistance Level:
(if) Features of Mutual Fund,

A firm is currently paying a dividend of ¥ 2 per share.
The rate of dividend is expected to grow @ 5% for first
five years and 10% thereafier forever. Find the value of

the share, if the required rate of return of investor is 15%. 9
() T R wfedw
(i) I3 RIS & ey

TH ®H F0A | 2 2 gfa IR e @ @ ¥
et UT9 FE B oN9iY @I e 5% e W Fed
H THEAT § IR TOAYER TR B AU 10%
I fawe it ok #1 efa < 15% &, @S

IR 1 Hed TG Hifog |
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(6)

(%)

(@)
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Or

(3reram)

Discuss the role of SEBI in protecting the interest of

investors in brief. 6

Mr. Sunil has required rate of return of 16%. He has made
investment in the shares of ABC Ltd. Using Gordon model,

find the value of share if :
Earning per share (EPS) = ¥ 10.

Rate of return on Reinvestment (ROI) = 20%.

Retention ratio is : 9
() 0%

(i) 40%

(ii1) 60%.

frdvet & fea-ieeron § Qe (SEBI) H e w1

ey § fag=m sifsay
st e #1 wfawa =) onfda = 16% &1 =/

ABC fafees & Yot & fam foran gon &) TitdH
Tiee F1 3T HQ T IR F G 7@ F,

PT.O.
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